) < 5 3 3 -4

SLRVIC \')‘.w'o. SHE y R S . 150
s N THIRD ANGIE PROJEETEN @ : LT L1 s witwers
35 308 3 :

= I e e T

SECURITY. CLASSIFICATION

USED oul

SEE NOJE 8

NOAES: [CONT'D EROM ST

5. APPLY THERMAL COMPOUND (ITEM 121) T0 THE END(S) OF A
THE SENSGRS (ITEMS 110 & 111) BEFORE INSERTING THE SENSORS

INTO THE HOLES IN THE DRIFT TUBE AND MNIFOLD ASSY., (ITEM 82).
SEAL THE WIRES OF THE ASSEMBLIES TO THE\_‘DRIFT TUBE AND MANIFGLD
ASSY., (ITEM 82) USING SILICONE SEALANT (ITEM 119) TO FILL THE HOLE(S).

9. TEST IN' ACCORDANCE WITH TEST. SPECIFICATION 8V,/0614-2340.

19

[

PARE SECHON: v -

gsEE SECET 1?

e

.

< 3 ] 90mmz 10
PART DESIGNATION TCRQUE SETTING ] . - ; 125 : FROM IT.96

ITEM 62. (M2 -SCREWS) 0.21 = 0.015Nm. (30 oz.ins.)
ITEM 63. (M2 SCREWS) 0.05 + 0.007Nm. (7 oz.ins.)
[TEMS 49,51,52,53,54,57,58 & 59.(M3 SCREWS) | 0.6¢ = 0.66Nm. (90 ozins.)
TEM 55. (M5 SCREWS) 0.85 £ 0.08Nm! (120 oz.ins.)
= (M3 NUTS) 0.35 £ 0.03Nm. (50 ozins.) A 1sAochs: ms:uumm’:ﬁ.ii;“éumes
i 73 : (M10' NUT) 0.85 £ 0.08Nm. (1200zins.) : - e : .
HEMS 38 & 97. . (HOSE. FITTINGS) | 0.35'% 0.03Nm. (50 oz.ins.) e = : i : LEAD FROM TS5
ITEMS 104,105,106 & 107. (PILLARS) 0.6¢ £ J.06Nm. (80 oz.ins.) g ; : 2 ]

T OTNACS uTE
MHUFAGTURING TO THE

PART VIEW ON ARROW X :
(SEE SHEET 1; _ ENLARGED VIEW V
' : SEALE 2:1

REMOVE ALL BURRS AND SHARP EDGES DO NOT SCALE
[ sPeCIFICATION DIMENSIONS IN - SCALE TITLE eI TN

/ MILLIMETRES : : 4 AU T
== MOBUEE assemBLY

ESTIM/TED MASS SURFACE ROUGHNESS

DCN 2075¢
DCN20738
DCN20360
DCN20830
CHANGE No.

|

N.S.N.

CONTRACTOR Graseby Dynamics |

| APERTURE
| CARD
|‘ -

| SPECI ICATION TOLERANCES UNLESS OTHERWISE STATED
WHOLZ No. = 2,0 AMGULAR DIMS.
: 1 DEt. PLACE DRILLED HOLES =
CHANGE No. | 2 DEL. PLACE

]

WATFORD = HERTS ~ ENGLAN:
MOG - ESTABLISHMENT

U oo | | |0 D

&
(=
m

e

BEEERErE TR B
(=505 el e o]z isfia]s]

2y

oL SERBERETE SRR
18)17]i4}is20 u% ) [51]z2]33]3435]38]33]32 ]33]




10010084




